Name

Cumulative Test

Date Class

4

Select the best answer.

1.

Order the numbers 1.6, V3, 0, "27 V2
from least to greatest.

A0,1.§,—V§,\/§,g

B -V2,0, 1.6, “27,%
c —-V2, 0,%,1.6, V3
D —V2,0, 1.6, V3, g

. Use interval notation to represent
-4 = x<3.

F [-4,3] H (—4,3)
G[-4,3) J (-4,3]
Identify the property demonstrated
by3+ (2+5)=(2+5)+3.
A Associative Property

B Commutative Property

C Distributive Property

D Additive Identity Property

3V2
. Simplif
plify === V6
F V3 H 3V3
G 2V3 J 3V2
. Simplify 4V/18 — 3V/8.
A V10 C 8V3 - 3V8
B 418 — 3V8 D 6V2
; EvaluateL
_ 1
F -8 H 8
G -1 J 8
8 3x2y"\?
. Simplify }/3 . Assume all variables
(Xy)
are nonzero.
9x 9
A X Cc
y5 X2y8
2
B X D2
y Xy
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10.

1.

12.

13.

14.

4.0 x10°°

x 10*
and write the answer using scientific
notation.

F 08x1077 H 80x1077
G 8.0x107° J 80x10°
Which of the following relations is not
a function?
A from student to math teacher
B from math teacher to student
C from student to height
D from math teacher to number

of classes

Evaluate f(—2) for f(x) = X+ 1

Evaluate the expression

x— 1
1
F -3 H3
1
G 3 J 3

Which function C represents the cost,
in dollars, of p pencils that cost 5 cents
each?

A C(p) = 500p C C(p) =20p
BCp =L DCp=q

Solve 6x — 2(2 + x) = 9x + (4 — 5x).

F x=0 H all real numbers
G x=8 J no solution
12 _ 20
Solve 57 = 3¢
A x=-5 C x=12
B x=5 D x=17

The right triangles ABC and DEF are
similar. The hypotenuse of AABC
measures 12 cm and the hypotenuse
of ADEF measures 18 cm. If one of
the legs of ADEF measures 15 cm,
what does the corresponding leg of
AABC measure?

F 5cm
G 9cm

H 10 cm
J 22.5cm
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Name Date Class
Cumulative Test
4 continued
15. Which set of points could represent a 21. Solve |2X3_ il = 4.
linear function? 13 13
A {(1,1),(1,2), (1,3), (1,4)) A X ‘?Sxfﬂ
B {(1,9), (2,12), (4, 15), (8, 18)} B lx xs—ﬁorxzﬁ]
C {(1,6), (3,10), (5, 14), (7, 20)} 2 2
D {(1,6), (4,4), (7,2), (10,0)} c Ix _%gxsg]
16. A line has slope —3 and passes
? D xxs—ﬂorsz]
through (5, 3). Which of these 2 2
points is also on the line? 22. If g(x) is a vertical stretch by a factor
’ ’ rule for g(x)?
G (2,6) J (9,9) “ gx1
17. What is 4x + 3y = 12 in slope-intercept F g = —olxl =3
?
form’ G g0 = —1Ix +3
Ay=—%x—12 Cy=%x+12
H gx) = —8|x| — 12
By——§x+4 Dy——§x+4
= — +
18. Which is the equation of the line J 90 8lx| + 12
perpendicular to y = 2x + 7 and passing 23. The system Bxty= - 14
through (1, —8)? 4y — 30 = 12x
E oo 1 15 Hyvo ] A consistent, with no solution.
y="2""7% y=5%X=9 B consistent, with infinitely
Gy-= —x _ 15 J y= —x 9 many solutions.
2. C inconsistent, with no solution.
19. If g(x) is a horizontal compression by _ , o
factor of - followed by a translation D inconsistent, with infinitely
a factor ot y many solutions.
gff;]unltls (10‘””(02,’;()() = 4x — 5, what 24. Cinema City charges a $15 membership
IS the rule for gix)« fee, plus a charge of $2.50 per movie
Aglx)=—-x-2 rental. Movie World charges no
B glx)=—-x+2 membership fee but charges $3.25 per
C g(x) = —16x—8 rental. For what number of rentals is
D o(x) = —16x + 8 the total cost of membership and rentals
g the same for both stores?
20. Which linear equation best fits this F 5 H 15
?
data set” G 10 J 20
1 4 11 2x + 3y =1
5 5 25. Solve 5x — 4y = 37"
_7 19 _ 32
E 3 5 H y A(4’ 3) C(46’ 33)
==X+ 3 = X
Y=5¥*4 Y B (5 —3) D (8, -5)
— 2.3 ~4, 1
Gy 3X 5 J y= 33
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4 continued

26. Tickets to the school musical are $5 for
adults and $2 for students. 120 tickets
are sold for the Sunday matinee for a
total of $429. How many adult tickets

were sold for the Sunday matinee?

F 53 H 63
G 57 J 67
27. Which point is a solution of
y>2x-3,
1 '
y<-X
A (-1,-1) c (1,-1)
B (-1,1) D (1,1)
28. What are the vertices of the
feasible region for the constraints
x=1
y=2 o
X+y=8 '
3x +5y=30

F {(1,5.4), (6,2), (5, 3)}

G {(1,2),(1,7),(6,2),(53)}

H {(1,2), (1,5.4), (6,2), (5 3)}

J {(1,2), (1,7), (6, 2)}

On a feasible region whose vertices are
{(2,8), (9,3), (7,6), (3,8)}, what is

the maximum of the objective function
R = 2x + 5y, and where does it occur?

A 19at (2, 3) C 46 at (3, 8)

B 33at (9, 3) D 48 at (7,6)
Which point is the z-intercept of the
plane 3x — 2y — 4z = 487

F (16,0,0) H (0,0, -12)

G (0, —24,0) J (16, —24, —-12)
Which ordered triple represents the point
that is 3 units up from the origin, 2 units

left from the origin, and 6 units backward
along the x-axis from the origin?

A (-6, -2,3) C (3, -2, -6)
B (-6,2,3) D (3,2, -6)

29.

30.

31.
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32.

33.

34.

35.

36.

Use elimination to solve
X+ 2y+4z=19
3x—2y+3z=15.
5x+ y—5z=18

F 3,23)

G (5 3,2)

The system
2Xx+y+z=26
X+2y—z=7 is

2x + 5y —3z=10

A inconsistent, with no solutions.
B inconsistent, with infinitely
many solutions.

dependent, with infinitely
many solutions.

D dependent, with no solutions.

H (6,7,1)
J (9,3,1)

Cc

1 -5 4 2
fC=|6 0land D =|- ,
-3 2 -5 -3
evaluate 2C — D.
-6 —14 -2 -12
F |14 -8 H[13 -8
4 10 —1 7
-3 7 6 -8
G|7 4 J[11 4
2 5 -11 1
For S, 4, T4« 2, and V., .. ,, what are

the dimensions of VTS?

A2x2 C4x2
B 2x4 D 4 x4
3 2
IfP=[2 1 4landa=|71 11,
430 e
evaluate PQ.
33 6 -1 8
|:[01 H15 3 0
4 3 12
G[g 8] J|12 4
4 2 -8
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4 continued
37. If A = [_‘5 ‘;I evaluate A2
Al il clls 7
(59 o[
If AABC is defined by the matrix

_[7 42
P [—3 2 1
of AABC after it has been reflected

38.

], what are the coordinates

using the reflection matrix [(1) _% ]?

-7 -4 -2 3 -2 -1
F [—3 2 1 H[—7 4 -2
321 7 4 2
G[742 J[3—2—1

39. AABC has vertices A(6, 1), B(3, —2),

C(—2, 1). What are the coordinates of
the image of AABC after it has been

rotated using the rotation matrix [(1) _01 ?

A A(-6,1),B(-3,-2),C(2,1)
B A(-1,6),B(2,3),C (-1, -2)
C A(1,6),B(-2,3),C(1, -2)

D A6, —-1),B(3,2),C (-2, —-1)

i - 05 -1
40. Find the determinant of 05 2|
F -15 H 0.5
G -05 J 15
. _ -1 1 1
41. Find the determinantof | 1 -1 1 |.
11 -
A -2 c2
BO D 4
42. Which matrix is the inverse of ’_3% ‘21 ?
1[4 -2 4 -2
F ialt 3] el
1 (-3 -1 -3 -1
G ﬁ[2 4 J [2 -4
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43. The game of Trip Chip is played with
colored chips. Each color is worth a
certain number of points. The chart
below shows the chips for three players
and the total value of their chips. How
much is each color worth?

Blue | Green | Red | Total Value
Ted 6 4 1 49
Emily | 3 2 5 38
Carlos | 1 6 4 41

A 4 for blue, 4 for green, and 1 for red
B 4 for blue, 6 for green, and 9 for red
C 5 for blue, 3 for green, and 3 for red
D 5 for blue, 4 for green, and 7 for red

44. What is the augmented matrix for the

—2y +4 =3x,

system of equations [6 = 7x + By

—4

-3 2
F -6

-7 =5

—2 4|3
G 6 7|5

Ho 81
s[5 4]
What is [2 —;‘ 32
row-echelon form?
A (89 3
JEE

12 -2| 64
Clo 1‘—2

45, in reduced

12 0| 60
Dlo 1‘—2
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Answer Key continued

2.

10.
11.

12.

13.

14.

15.
16.

1.

3.

4.

(10 —11 15
| 5 7 -15
_ 1.
11 —19
. 23 6 2.
| —20 29 3.
VS 4.
(24 15 0 5.
-8 18 0 6
| 2 7-4 .
1 o] 7.
(11 8.
B 0 1] 9.
-1 0 10.
8. A(3,-3),B (7, —2),and C' (4, —4) 1.
-2 12.
18 13.
x=-5y=-7 14.
15.
+V12
_ 16.
_1 1]

T 17.
L2~ 18.
[ 4 3] 7 19.
|-5—1|-2 20
1 011 21.
0 1] 8 29,
apple: $0.75, pear: $0.85, orange: $0.55. 23

Performance Assessment 24.
Blue |Green |Red Points 25.

Kim 4 4 2 54 26.

Pat 3 7 0 56 27.
Robin 5 3 2 56 28.

[ 4 4 2| 54] 29.

3 7 0|56 30.
| 5 3 2|56 31.
[ 1 0 0| 7] 2

0 1 0| 5 32.
| 0 0 1| 3] 33.
blue, 7; green, 5; red, 3. 34.

35.
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Answer Key continued

36.
37.
38.
39.
40.
41.
42.

43. C
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CHAPTER 5

Section Quiz: Section A
1. D
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Section Quiz: Section B
1. C
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e

Chapter Test Form A
1. C
2. A

Copyright © by Holt, Rinehart and Winston.
All rights reserved.

—r

—h

303

© © ® N o o &~ o

G G G G G G 'Y
© N o g s~ 0 bd

-t
©
W o >0 >» > ® > W E>>0O0 > W ET

20.

© © ® N 9o g &~ 0 DN
O T OO W TmTmoO O o I >» I

== S Y N
@ h o

Chapter Test Form B
1.

B
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